

مدرسة البيروني الإعدادية

جديدة المكر

المعلمة سهاد شامي

اكتبوا في كل بند تعبيرًا مكافئًا للتعبير المعطى بدون أقواس.

$$(x+4)(x+5)=$$

$$x^2+5x-6$$

$$(x-10)(x+4)=$$

$$x^2+9x+20$$

$$(x+9)(x-2)=$$

$$x^2+7x-18$$

$$(x+6)(x-1)=$$

$$x^2+3x-70$$

$$(x-7)(x+10)=$$

$$x^2+8x+12$$

$$(x+2)(x+6)=$$

$$x^2-6x-40$$

$$(4x+5)(-10+9x)=$$

$$-36x^2+59x+7$$

$$(-9x-7)(7+4x)=$$

$$36x^2+5x-50$$

$$(4x-7)(-1-9x)=$$

$$-36x^2-91x-49$$

$$(-9+2x)(-5x+8)=$$

$$-50x^2+85x+9$$

$$(-9+5x)(-10x-1)=$$

$$-72x^2-67x-15$$

$$(-3-8x)(9x+5)=$$

$$-10x^2+61x-72$$